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bl iqfLrdk ij dqN Hkh fy[kus ls igysbl iqfLrdk ij dqN Hkh fy[kus ls igys
fuEufyf[kr funsZ'k /;kuiwoZd i<+safuEufyf[kr funsZ'k /;kuiwoZd i<+sa

1-1- viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa mijksä ç”uksa dh viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa mijksä ç”uksa dh 
la[;k bafxr gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ deh gks rks i;Zos{kd la[;k bafxr gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ deh gks rks i;Zos{kd 
dks lwfpr djsa rFkk iqfLrdk cny ysaA mÙkj nsus ls iwoZ vki ;g vo'; lqfuf'pr djsa fd vkidks lgh fo|k'kk[kk iqfLrdk feyh dks lwfpr djsa rFkk iqfLrdk cny ysaA mÙkj nsus ls iwoZ vki ;g vo'; lqfuf'pr djsa fd vkidks lgh fo|k'kk[kk iqfLrdk feyh 
gSAgSA 

2-2- viuk uke] vuqØekad la[;k vkSj vks-,e-vkj- viuk uke] vuqØekad la[;k vkSj vks-,e-vkj- (OMR) la[;k vkeq[k i`"B ij fy[ksaA mÙkj i= ij uhys@dkys ckWy Iokb±V isu  la[;k vkeq[k i`"B ij fy[ksaA mÙkj i= ij uhys@dkys ckWy Iokb±V isu 
ls HkjsaA mÙkj if=dk ij viuk uke fyf[k, rFkk gLrk{kj dhft,Als HkjsaA mÙkj if=dk ij viuk uke fyf[k, rFkk gLrk{kj dhft,A 

3-3- ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad  ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad (A)(A) lsls (D)(D) rd pkj çLrkfor mÙkj fn;s gSaA vkids  rd pkj çLrkfor mÙkj fn;s gSaA vkids 
fopkj esa tks Hkh mÙkj lgh gS mldks vks-,e-vkj- mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A fopkj esa tks Hkh mÙkj lgh gS mldks vks-,e-vkj- mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A 

4-4- lHkh ç”u vfuok;Z gSaA lHkh ç”u vfuok;Z gSaA 

5-5- mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA 

6-6- mÙkj if=dk bysDVªkWfud ek/;e ls lalkf/kr dh tk;sxhA vr% bls eksM+us ;k ;=&r= fpUg yxkus vFkok mÙkj if=dk dks [kjkc mÙkj if=dk bysDVªkWfud ek/;e ls lalkf/kr dh tk;sxhA vr% bls eksM+us ;k ;=&r= fpUg yxkus vFkok mÙkj if=dk dks [kjkc 
djus ,oa viw.kZ@vlR; Hkjus ij mÙkj if=dk dks fujLr fd;k tk ldrk gS ,oa bldh iwjh ftEesnkjh vH;FkÊ ij gksxhAdjus ,oa viw.kZ@vlR; Hkjus ij mÙkj if=dk dks fujLr fd;k tk ldrk gS ,oa bldh iwjh ftEesnkjh vH;FkÊ ij gksxhA 

7-7- jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,A fdlh vU; dkx+t ij bls djus dh vuqefr ugha gSA jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,A fdlh vU; dkx+t ij bls djus dh vuqefr ugha gSA

8-8- gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj 
esa dksbZ Hkh dfVax ;k vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh laLdj.k esa fdlh esa dksbZ Hkh dfVax ;k vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh laLdj.k esa fdlh 
Hkh fHkUurk gksus ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA Hkh fHkUurk gksus ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA 

9-9- dsYdqysVj] LykbM:y] eksckbZy] dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn  dsYdqysVj] LykbM:y] eksckbZy] dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn 
dk ç;ksx ijh{kk d{k esa oftZr gSA dk ç;ksx ijh{kk d{k esa oftZr gSA 

10-10- ijh{kk dh lekfIr ds i'pkr~ viuh mÙkj&if=dk i;Zos{kd dks okil dj nsaA vks-,e-vkj- mÙkj if=dk dks ijh{kk d{k ls ckgj ijh{kk dh lekfIr ds i'pkr~ viuh mÙkj&if=dk i;Zos{kd dks okil dj nsaA vks-,e-vkj- mÙkj if=dk dks ijh{kk d{k ls ckgj 
ys tkuk oftZr gS ,slk djuk n.M.kh; vijk/k gSAys tkuk oftZr gS ,slk djuk n.M.kh; vijk/k gSA

11-11- iz'u i= esa fodYiiz'u i= esa fodYi ^d*] ^[k*] ^x*] ^?k* ds LFkku ij^d*] ^[k*] ^x*] ^?k* ds LFkku ij OMR Sheet esa ^d*esa ^d* ds fy,ds fy, 1, ^[k*^[k* ds fy,ds fy, 2, ^x* ds fy, ^x* ds fy, 3 rFkk rFkk ^?k*^?k* ds ds 
fy,fy, 4 fodYi okyk gh xksyk dkyk djssaAokyk gh xksyk dkyk djssaA
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                                         LIMITED DEPARTMENTAL EXAMINATION, ASSISTANT 

                                                                       ENGLISH PAPER-I 

Question No. 1 to 15 

Comprehension (Read the passage and answer the questions given below) 

Global warming the phenomenon of increasing average air temperatures near the surface of 
the earth over the past one or two centuries. Climate Scientists have since the mid twentieth century 
gathered detailed observations of various weather phenomena such as temperatures, precipitations and 
storms and of related influences on climate such as ocean currents and the atmosphere’s chemical 
composition. These data indicate that Earth’s climate has changed over almost every conceivable 
timescale since the beginning of geologic time and that the influence of human activities since at least 
the beginning of the Industrial revolution has been deeply woven into the very fabric of climate 
change.

Giving voice to a growing conviction of most of the scientific community the 
Intergovernmental Panel on Climate Change(IPCC) was formed by the World Meteorological 
Organisation (WMO) and the United Nations Environment Programme(UNEP) . In 2013 the IPCC 
reported that the interval between 1880 and 2012 saw an increase in global average surface 
temperature of approximately 0.9 degree centigrade. The increase is closer to 1.1 degree centigrade 
when measured relative to the pre industrial (i.e. 1750-1800) mean temperature. The IPCC stated that 
most of the warming observed over the second half of the twentieth century could be attributed to 
human activities. It predicted that by the end of the 21st century the global mean surface temperature 
would increase by 0.3 degree to 5.4 degree centigrade relative to the 1986-2005 average. The 
predicted rise in temperature was based on a range of possible scenarios that accounted for future 
green house gas emissions and mitigation measures and on uncertainties in the model projections. 
Some of the main uncertainties include the precise role of feedback processes and the impacts of 
industrial pollutants known as aerosols which may offset some warming. 

  Many climate scientists agree that significant societal, economic and ecological damage 
would result if global average temperature rose by more than 2 degree centigrade in such a short time. 
Such damage would include increased extinction of many plant and animal species, shifts in patterns 
of agriculture and rising sea levels. The IPCC reported that the global average sea level rose by some 
19-21 cm between 1901 and 2010 and that sea levels rose faster in the second half of 20th century than 
in the first half. It also predicted again depending upon a wide range of scenerios, that by the end of 
the 21st century the global average sea level could rise by another 29 to 95 cm relative to the 1986-
2005 average and that a rise of well over 1 metre(3 feet) could not be ruled out. 

Question No.1  
What do you mean by Global warming 

1. rise in agricultural production 2. rise in thermal production 
3. rise in surface air temperature of earth 4. non of the above                  

Question No. 2 
What are the various weather phenomenas 
 1. Temperature, precipitations and storms 2. Water level in oceans 

3. Density of forests 4. Forest fires                     

15
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Question No. 3 
Global warming started on a measurable level due to 

1. Population explotion 2. Industrial revolution 
3. Increased economic well being 4. None of the above                                    

Question No. 4 
Which organization monitors Global warming 

1. Intergovernment Panel on Climate Change 2. World Health Organisation 
3. U.N.O. 4. Indian Meteorolocal Organisation                                     

Question No. 5 
During the period from 1880 to 2012 the global surface temperature increased  by 

1.  0.8 Degree 2. 0.7 Degree 
3. 0.9 Degree 4. No rise                                                     

Question No. 6 
Industrial Revolution started in the year  

1. 1790 2. 1750 
 3. 1800 4. 1900                               

Question No. 7 
Warming  observed  in the second half  of 20th century is due to 

1. human error 2. global terror 
 3. human activities 4. animal sacrifices                                 

Question No. 8 
By end of 21st century how much rise in surface temperature of Earth is predicted 
 1.  0.3 Cto 5.4 C 2. 0.4 C to 1.2 C
 3. 0.3 C to 1.1 C 4. 0.3 C to 3.1 C                              
Question No. 9 
Was the predicted rise in temperature an accurate one 

1. Yes it was accurate 2. Dependent on government intervention 
 3. No, dependent  on various scenerios 4. None of the above                              

Question No. 10 
Possible scenerios that can affect predicted rise in temperature 

1. Green house gas emissions and mitigation measures  2. Increased agricultural production 
 3. Population control   4. None                                                  

Question No. 11 
Which can cause significant societal, economic and ecological damage in short time. 

1. rise of 2 C global temperature 2. rise of 0.3 C global temperature 
 3. rise of 1 C gobal temperature 4. none                                                               

Question No.12 
What damages are predicted for 2 C rise in temperature? 

1. Floods 2. Extinction of plant and animal species
3. Shift in patterns of agriculture, rising sea levels 4. 2 and 3 above

Question No.13 
Between 1901 to 2010 sea level  increased  by 

1. 19 to 21cm 2. 19 to 20 cm
3. 18 to 20 cm 4. 19 to 22 cm
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Question No. 14 
What is the average sea level rise predicted by end of 21st century 

1. 29 to 90 cm 2. 29 to 95 cm
3. 28 to 9 cm 4. 26 to 89 cm

Question No.15 
From the predictions of above passage what should be done to reduce global warming 
1. Grow more Trees 2. Burn less fossil fuels
3. Prevent deforestation 4. All the above

Question No.16  
Choose the  alternative which can replace the word printed in bold without changing the meaning of                  
the sentence 
My new job is demanding but I enjoy the challenge it offers to me 

1. Onerous 2. Easy
3. Effortless 4. Far fetching

Question No. 17 
Choose the alternative which can replace the word printed in bold without changing the meaning of 
the sentence 
India has got a good number of wild life sanctuaries which are home to Tigers, Lions and Elephants 

1. Orphanage 2. Haven
3. Zoo 4. Forest

Question No. 18 
Choose the one which best expresses the meaning of the given idiom or phrase in bold letters 
To drive home his point Rahul gave an example in his speech 

1. To find one’s roots 2. To return to place of rest 
 3. Back to original position 4. To emphasise                            

Question No.19 
Choose the one which best expresses the meaning of the given idiom or phrase in bold letters 
The Police left no stone unturned to trace the culprit. 

1. Took no pains 2.  Did irrelevant things 
 3. Resorted to illegitimate practices 4. Used all available means                  

Question No.20 
Choose the one which best expresses the meaning of the given idiom or phrase in bold letters 
Ramesh action was amounting to put the cat among the pigeons 

1. To hunt easy prey 
2. To be different in a group where everybody is alike 
3. To do something that is likely to cause controversy 
4. When the entire group feels trapped in a bad situation     

Question No. 21 
Find one word substitute for the bold words in the following sentence 
A person who indulges in the study of coins 

1. Numismatist 2. Educationist 
 3. Ornithologist 4. Physicist                        
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Question No.98 
Identify the given sentence : Oh my God! That is stunning! 

1. Imperative 2. Exclamatory 
 3. Declarative 4. Interrogative                                     

Question No.99 
Fill in the blank 
She usually _____ the baby down for sleep at this time 

1. lies 2. lied 
 3. lay 4. lays                                     

Question No.100     Find the odd word out 
Options

1. and 2. or 
 3. but 4. in                                              



12

Question No.87 
Read the passage and fill in the blanks by choosing the best option for (2) 

1. discussed 2. has discussed 
 3. had discussed 4. had been discussing                       

Question No.88 
Read the passage and fill in the blanks by choosing the best option for (3) 

1. holding 2. positioning 
 3. posturing 4. posing                                  

Question No. 89 
Read the passage and fill in the blanks by choosing the best option for (4) 
 1. have suggested 2. had been suggesting 
 3. suggests 4. suggested                              

Question No.90 
Read the passage and fill in the blanks by choosing the best option for (5) 

1. in 2. for 
 3. at 4. of                                        

Question No. 91 to 94 ( Please improve the sentence by substituting the word/phrase given in bold 
from the options given below) 
Question No. 91 
Will you help me wash away after the meal  

1. wash off 2. wash out 
3. wash up 4. no improvement                             

Question No. 92 
Let’s go for a picnic shoudln’t we 

1. won’t 2. shan’t 
 3. shall 4. no improvement                        

Question No.93 
Priya  had hardly gone out then it began to rain 

1. when 2. as 
 3. before 4. no improvement                     

Question No.94 
Ramu claimed that he was senior than me 

1. senior over 2. senior by 
 3. senior to 4. no improvement                   

Question No 95 to 97 (  Spot the error in the following sentences which is divided in to four parts) 
Question No. 95 

1. The scheme failed because 2. some states could not 
 3. managed not to raise 4. necessary funds                                      

Question No.96 
1. The noise was  2. so faintly that 

 3. one had to strain 4. one’s ears to hear it                                           

Question No.97 
1. Babar was not only 2. a great soldier, 

 3. but also a 4. very wisest ruler                                
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Question No. 22 
Find the one word substitutefor the bold words in the following sentence 
A person who indulges in the study of insects 

1. Herpetology 2. Entomologist 
 3. Geologist 4. Mammalogist                           

Question No. 23 
The candidate was likely to win the Parliamentary election_____________  sweeping majority 

1. by the 2. with the 
 3. with a 4. by a                                     

Question No. 24 
Aditi failed in the examination because none of her answers were ____________ to the question 
asked

1. allusive 2. Revealing 
3. pertinent 4. referential                          

Question No 25 
The Board of Directors had ____________ views on the issue of  giving Bonus to the employees 

1. independent 2. divergent 
 3. modest 4. adverse                                        

Question No 26 
In the following  question  out of the four alternatives select the alternative which is best substitute of 
the phrase 
A dramatic entertainment, in which performers express through gestures 

1. mimicry 2. ham 
3. pantomime 4. depiction                                           

Question No 27 
Rearrange the parts of sentence in correct order 
An Engineer building a bridge 
P- find easy to comprehend 
Q-picks the best plan 
R- and not the one that motorists 

1. RQP                   2.  RPQ 
 3. PRQ 4. QRP                    

Question No 28 
Choose the correct word or phrase which is most nearly the same to the keyword 
Polyglot 

1. a  freelancer 2. a column writer 
 3. a linguist 4. a story writer       

Question No 29 
Choose the correct word or phrase which is most nearly the same to the key word 
Servile

1. sycophantic 2. dominant 
 3. aggressive 4. unsound                     

Question No. 30 
Choose the correct word or phrase which is most nearly the same to the key word 
Melodramatic 
1. tranquil 2. halcyon 

 3. bucolic 4. theatrical                                 
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(Question No.31 to 35)  Against each key word are given four suggested options .Choose the 
word which is opposite in meaning to the key word 

Question No 31 
Transparent
1. Opaque 2. Apparent 

 3. Transpire 4. Impressive                        

Question No. 32 
Dense 
1. Unpopulated 2. Immense 

 3. Sparse 4. Fence                                     

Question No. 33 
Aground 
Options
1. Stranded 2. Higher 

 3. Afloat 4. Wrecked                                      

Question No. 34 
Conspiracy

1. Fidelity 2. Plot 
 3. Treachery 4. Loyalty                                   

Question No. 35 
Dire 

1. Acute 2. Critical 
 3. Unimportant 4. Extreme                                            

(Question No. 36 to 40)  Choose the wrongly spelt word 
Question No. 36 

1. Tremble 2. Sagacious 
 3. Allowence 4. Alchemy                               

Question No. 37 
1. Nuptial 2. Nunnary 

 3. Noxious 4. Nurture                                      

Question No. 38 
1. Longavity 2. Logarithm 

 3. Lithography 4. Loathe                                      

Question No. 39 
1. Mammoth 2. Mannaquin 

 3. Mannerism 4. Mantle                                             

Question No. 40 
1. Silhoutte 2. Siphon 

 3. Singleton 4. Skimpy                                 

Question No. (41 to 45) Choose the correctly spelt word 
Question No. 41 

1. Missible 2. Saosages 
 3. Emullator 4. Abdicate                                  
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Question No.79 
Ram said ,”I will watch a horror movie tonight”. 

1. Ram said that he will watch a horror movie tonight 
2. Ram said that he would watch a horror movie tonight 
3. Ram said that he would watch a horror movie that night 
4. Ram said that he should watch a horror movie tonight               

Question No.80 
Suresh said, “ I am busy now”. 

1. Suresh said that he was busy then 2. Suresh said that he is busy now 
 3. Suresh said that he was busy now 4. Suresh told that he was busy now                   

 Question No. 81 to 82  (Please find the Synonym of the word given) 
Question No. 81 
Potentate

1. servant 2. noble 
 3. monarch 4. soldier                                       

Question No. 82 
       Predicament 
 1. impasse 2. advantage 
 3. boon 4. ease                                     

Question No. 83 to 84  (Please find the Antonym of the word given) 
Question No.83 
       Incendiary 
 1. seditious 2. wicked 
 3. loyal 4. provocative                                 

Question No.84 
     Dichotomy 
 1. similarity 2. separation 
 3. split 4. difference                                    

Question No. 85 
Improve the bracketed part of the sentence 
      We are late because my wife took two hours to( put up) her make up 

1. put  2. put on 
 3. put over 4. no improvement                                      

Question No. 86 to 90 
Read the passage below  and fill in the blanks by choosing the best option for each 
_____________(1) nearly eight decades, the women’s movement _______________(2)and debated 
the desirability and feasibility of a Uniform Civil Code and has ended up ___________(3) a simple 
question-what is the value of uniformity?  Is it for the “Integrity of the nation” that uniformity in laws 
is requested as some judicial pronouncements ___________?(4). If so who exactly is the beneficiary?   
Which sections of people benefit  from” integrity of the nation”,  that abstract entity which is not 
exactly  ________________(5) the top of your mind as your husband throws you out on the street? 

Question No.86 
Read the passage and fill in the blanks by choosing the best option for (1) 

1. About 2. Or 
 3. With 4. For                                                
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Question No. 70 
                What is the basic function of a Joint family 

1. Increases relationship 2. Family bonding 
2. Togetherness 4. Acts as a safety net                              

Question No. 71 to 72   (Find the one which is not correctly matched) 
Question No.71 

1. Word : Enumerate               Synonym  : List                 Antonym  : conceal 
2. Word : Enunciate                Synonym  : pronounce      Antonym :  mumble 
3. Word : Munificent              Synonym  :  generous       Antonym :  miserly 
4. Word:  Ambhitious             Synonyms : aspiring         Anonym :   enthusiastic        

Question No. 72 
1. Word : Contemplate           Synonyms : examine      Antonym :   consider 
2. Word : Cosmetic                  Synonyms : superficial   Antonym : functional 
3. Word : Mutilate                   Synonym :  damage        Antonym :  restore 
4. Word : Agitate                      Synonym :  stir                Antonym :  calm       

Question No. 73 to 75  (Choose the correct active/passive voice of the sentence given in the question) 
Question No. 73 
    Ravi had committed a mistake 

1. A mistake has been committed by Ravi 2. A mistake had been committed by Ravi 
 3. A mistake was committed by Ravi 4. A mistake is committed by Ravi                               

Question No. 74 
     His hard work satisfied me 

1. I was satisfied for his hard work 2. I was satisfied by his hard work 
3. I was satisfied with his hard work. 4. I was satisfied at his hard work                             

Question No.75 
       His comment hurt me deeply 

1. I was hurt deeply by his comment 2. I could be hurt deeply by his comment 
 3. His comment was hurtful 4. I should not be hurt by his comment                   

Question No. 76 to 77 
In the following question out of four alternatives choose the one which best expresses the meaning of 
the idiom/phrase 
Question No. 76 
Necessity is the mother of invention 

1. solution to a problem is easy if one is sufficiently desperate 
2. great inventions happen only if you are desperate 
3. there is always a mother behind every great scientist who has invented something. 
4. when the need for something becomes essential, you are forced to find ways of getting it.  

Question No.77 
To keep one’s temper 

1. to become hungry 2. to be in good mood 
 3. to preserve ones energy 4. to be aloof from                                                         

Question No. 78 to 80 ( Change the following sentences into reported speech) 
Question No.78 
I said to her, “He is a good boy” 

1. I told her that he is a good boy 2. I told her that he was a good boy 
 3. I asked her that he is a good boy 4. I asked her that he was a good boy                       

7

Question No. 42 
1. Varietion 2. Declere 

 3. Rivet 4. Engreve                                   

Question No. 43 
1. Eraseable 2. Probbable 

 3. Esteemeed 4. Gregorious                               

Question No. 44 
1. Sylabus 2. Encroach 

 3. Coalesse 4. Adiction                                   

Question No. 45 
1. Aerodroma 2. Albatross 

 3. Alibe 4. Adjudicete                              

Question No.( 46 to 48)  Fill in the Blanks 
Question No. 46 
The Board of Directors failed to understand the _______________ behind the decision to suspend the 
Manager

1. belief 2. politics 
 3. ideology 4. rationale                         

Question No.47 
Please do not hesitate to ______________ me if you have any queries on the subject 
 1. contact 2. fresh up 
 3. shoulder 4. gather                           

Question No. 48 
_______________ your crime and your sentence may be reduced suggested the police 

1. Surrender 2. Apologise 
 3. Confess 4. Tell                                  

Question No. 49 
Improve the bracketed part of the sentence 
It was hard to believe that she  (were) dead for three months 

1. was 2. has been 
 3. is 4. no improvement                 

Question No. 50 
In the following question out of the four alternatives select the alternative which is the best substitute 
of the phrase 
Involving or indulging in violence or bloodshed 

1. inundate 2. gory 
 3. sanguine 4. imbrue                                       

Question No.( 51 to 58)  
 A sentence is divided into three parts a,b and c. . If  there is some error in any part a,b and c then this 
is your answer. Otherwise choose “No error”. 
Question No. 51 

(a) I like comics best because/(b) they hold the most/(c) colourful pictures. 
1. a 2. b 

 3. c 4. No error             



8

Question No.52 
(a) Senior Students should/(b)  not went  to the Primary/(c) Wing without permission. 
1. a 2. b 

 3. c 4. No error                   

Question No. 53 
     (a)The Temple is /(b) within a hundred yards/(c) from my house 
 1. a 2. b 
 3. c 4. No error                          

Question No.54 
    (a)Please put on a note/(b)declaring that/(c)Monday will be a holiday 
 1. a 2. b 
 3. c 4. No error                          

Question No. 55 
     (a)I engage in/(b)recreational activities at/(c)always once a week 
 1. a 2. b 
 3. c 4. No error                          

Question No.56 
(a) Sofia looked around /(b) trying to locate the owner of the deep/(c) voice they had just heard 
1. a 2. b 
2. c 4. No error                             

Question No. 57 
     (a)We are pleased that/(b)our daughter is married with/(c) such a nice man 
 1. a 2. b 
 3. c 4. No error                                

Question No. 58 
(a) Frozen, instant, hotted/(b) or fast food is not a part/(c) of my regular diet. 
1. a 2. b 
3. c 4. No error                             

Question No. 59 to 61 
 (Fill in the blanks with the appropriate words given below) 
Question No. 59 
In India Hindi is the most   ___________ spoken language 

1. profusely 2. richly 
 3. deeply 4. widely                                 

Question No.60 
The parents were concerned about the safety of ________ child 

1. there 2. their 
 3. those 4. them                                

Question  No. 61 
The investigations revealed a ______________ lack of efficiency in the functioning of the airlines 

1. plain 2. obscure 
3. conspicuous 4. concealed                                      
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Question No. 62 to 63 ( Please arrange the jumbled sentence to produce the correct sentence) 
Question No.62 

a. she was wishing     b. for her    c. for something    d. that was not good 
1. abcd 2. abdc 

 3. acdb 4. bcda                         

Question No.63 
a. things that fill you    b. sense of purpose    c. what are the   d. with joy and a 
1. cadb 2. dbac 

 3. bacd 4. cadb                          

Question No 64 to 65  (Pick the choice which gives the correct sequence of words) 
Question No. 64 

Goes   every    day      to    Temple   Ram 
   1          2         3         4         5          6 

1.   345231 2.   614523 
 3.   564231 4.   612345                                

Question No.65 
Week  once  out  a  eat  I 
    1          2        3   4   5    6 

1. 653241 2. 145236 
 3. 236451 4. 354126                       

Question No. 66 to 70  ( Comprehension) 
Read the passage below and answer the questions based on it. 
       Joint Family Structure a peculiarly Indian phenomenon has powered the success of many Indian 
businesses.  For the old business houses, success came from the close-knit joint family structure that 
fosters family values, teamwork, tenacity and continuity.  Under this structure, generations lived and 
worked together under one roof.  Survival of the family was synonymous with the survival of the 
business.  This is strength of the joint family system because fixed costs are shared across numerous 
family members, overall expenses are low and greater savings can be made.  Moreover, the joint 
family functions as a safety net. If one of the family members loses a job, the family can be run on the 
income of other family members. 

Question No. 66 
         Which system is a peculiarly Indian phenomenon? 

1. Joint family 2. Joint stock business 
 3. Hindu undivided family 4. Partnership system                              

Question No.67 
           Old era business houses were successful because of 

1. Pooling resources 2. Pooling money 
 3. Close knit joint family 4. Common philosophy                                

Question No.68 
                What is the principle requirement of joint family business 

1. Survival of joint family 2. Surplus money requirement 
 3. Common goal 4. Vision                                                          

Question No. 69 
              What is the economical benefit of Joint family system 

1. Operational cost are low 2. Loss  margin low 
 3. Fixed costs are shared 4. Business never liquidates                                 


